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MODEL QUESTION PAPER 

SET –I  

Entrepreneurship ¼m|ferk½¼m|ferk½¼m|ferk½¼m|ferk½  
 

(Class XIIth) (I.Com)
 

Time Allowed : 3 Hours                                                                               Full Marks 70 

      
 

 cgcgcgcg qfodYih; iz’u qfodYih; iz’u qfodYih; iz’u qfodYih; iz’u  Multiple choice type questions :-                           1×20=20 
 

 

1- fuEu esa ls volj cks/k dk rRo gS& 
The following is a element of sensing the opportunities.   

1 

 (A) le> dh 'kfDr Ability to perceive        
(B) ifjorZu ij utj Insight in to change                     

(C) uoizorZuh; xq.k Innovative quality            

(D) buesa ls lHkh  All of these      

 

2- fuEu esa volj dk izdkj gS& The following is a kind of opportunity.       1 

 (A) izFke volj First opportunity  (B) fufeZr v olj Created opportunity 

(C) vfUre volj Last opportunity (D) buesa ls dksbZ ugh a None of these 
 

 

3- iqokZuqeku ds mís’; gS& The objective of  forecasting are.     1 

 (A) v fr , oa vYi mR iknu dks le kIr dj uk To avoid over and under production       
(B) ykxr de djuk To Reduce cost                      

(C) ewY; uhfr dk fu/kkZfj.k determination of price policy.  

(D) mi;qZDr lHkh  All of these       

 

4- cktkj dh ekax dks dgrs gS& Market demand is known as.      1 

 (A) ekax dh Hkfo";ok.kh  

Demand forecasting  

(B) okLrfod ekax Real Demand  

(C) iwfrZ Supply  (D) dksbZ ugha None of these  
 

 

5- LFkkiuk esa vklku gS& Easy in formation is-  1 

 (A) ,dkdh O;kikj Sale trading (B) lk>snkjh QeZ Partnership firm  

(C) dEiuh Company  (D) buesa ls dksbZ ugh a None of these 
 

 

6- VsyhQksu O;; gS&  Telephone expense is.        1 

 (A) fLFkj Fixed  (B) py Variable  

(C) v)Zpy Semi-variable  (D) buesa ls dksbZ ugh a None of these 
 

 

7- fLFkj ykxr esa 'kkfey gS&  Fixed cost includes.    1 

 (A) dPps eky dh ykxr Cost of 

Row Material  

(B) Je dh ykxr Cost of labour  

(C) dkj[kkuk ykxr Cost of factory (D) 'kfDr dh ykxr Cost of power 

 



  
 

8- O;olk; ds fy, foi.ku gSA For business, marketing is.     1 

 (A) vfuok;Z Compulsory  (B) vko';d Necessary  

(C) vuko';d Unnecessary  (D) foykflrk Luxury  
 

 

9- izcU/k dyk gS& Management is an art of -      1 

 (A) Lo;a dke djus dk doing work himself         

(B) nwljks ls dke ysus dk Taking work from others                       

(C) A ,oa B nksuksa A&B both  

(D) dksbZ ugha  None of these        

 

10- B.E.P. og gS tgk¡ B.E.P. is that where.       1 

 (A) vf/kdre ykHk gksrk gS There is maximum profit.          

(B) U;wure ykHk gksrk gS There is minimum profit                        

(C) u ykHk gksrk gS u gkfu There is neither profit nor loss 

(D) buesa ls dksbZ ugha  None of these        

 

11- m|eh iwath esa jgrk gS& Venture capital contains.       1 

 (A) mPp tksf[ke High risk  (B) lkgfld tksf[ke Venture Risk  

(C) dksbZ tksf[ke ugha No Risk (D) buesa ls dksbZ ugh a None of these 
 

 

12- Hkkjr fuos’k dks"k LFkkfir fd;k x;k&  
Indian Investment Fund was established by.        

1 

 (A) IFCI  (B) fxz.Mys cSad Grindley Bank 

(C) LVsV cSad State Bank (D) dSu cSad Can Bank  
 

 

13- ifj;kstuk rS;kj dh tkrh gS Project is prepared.        1 

 (A) izorZdks }kjk By Promoters (B) izca/kd }kjk By Manager  

(C) m|eh }kjk By entrepreneur  (D) buesa ls lHkh All of them  
 

 

14- va'k vf/kewY; esa o`f) gS& Increase in share premium is-       1 

 (A) dks"k dk iz ; ksx Application of fund (B) dks"k dk lzksr Sources of fund  

(C) dksbZ izokg ugh No flow of fund  (D) buesa ls dksbZ ugh a None of these 
 

 

15- IDBI fdl o"kZ LFkkfir dh xbZ& IDBI was established in the year.       1 

 (A) 1944 (B) 1954 

(C) 1964 (D) 1974 
 

 

16- buesa ls dkSu&lk dkj[kkuk mifjO;; ugha gSA  
Which of the following is not factory overhead.        

1 

 (A) dkj[kkuk chek Factory Insurance           
(B) IykUV ij gzkl Depreciation on Plant                         

(C) Mªkbx dk;kZy; osru Drawing office Salary  

(D) osru Salary  

 



       
17- vf/keku va’kksa ij ykHkka'k nj gksrh gS& 

The rate of dividend on preference shares is.         
1 

 (A) fLFkj Fixed  (B) py Variable  

(C) v)Zpy Semi-variable  (D) buesa ls dksbZ ugh a None of these 
 

 

18- va'k fuxZe ,d lzksr gS& Issue of shares is a source of  1 

 (A) e/; dkfyd foÙk dk Medium term finance            
(B) vYidkfyd foÙk dk Short term finance            

(C) nh?kZdkfyd foÙk dk  Long term finance            

(D) buesa ls dqN ugha None of these.        

 

19- czk.M crykrk gS& Brand indicates.         1 

 (A) fpUg Symbol  (B) fMtk;u Design  

(C) uke Name  (D) lHkh All  
 

 

20- O;fDrxr foØ; gS& Personal selling is.   1 

 (A) ekSf[kd izLrqfr Verbal presentation             
(B) fyf[kr izLrqfr Written Presentation             

(C) n`’; izLrqfr Visual presentation             

(D) dksbZ ugha None of these.    
      

 

 fjDr LFkku Hkjsa fjDr LFkku Hkjsa fjDr LFkku Hkjsa fjDr LFkku Hkjsa  Fill in the blanks :-                                                          1×7=07 
 

 

 

21- foi.ku vo/kkj.kk dk tUe ----------- esa gqvkA  
The birth place of marketing management is ………….   

1 

                                                   tkiku@vesfjdk (Japan/America)   

22- foKkiu --------------- gSA  Advertisement is ……………   1 

                                                   fofu;ksx@cckZnh (Investment/Wastage)   

23- Hkkjr esa izca/k ----------------- gSA  Management in India is ………….   1 

                                                   vko';d@vuko’;d (necessary/unnecessary)   

24- izca/k ------------- gSA Management is ……………   1 

                                         dyk@dyk vkSj foKku nksuksa (Art/art and Science both)   

25- pkyw vuqikr ---------- gksrk gSA Current Ratio is …………   1 

         vkfFkZd fpV~Bk vuqikr@ykHk&gkfu vuqikr (Balance sheet Ratio/P/L Ratio)   

26- --------------- xSj pkyw lEifr gSA  Non current assets is ……………   1 

                                                   [;kfr@nsunkj (goodwill/Debtors)   

27- LFkk;h iwath ------------- gksrh gSA Fixed Capital is ………………   1 

                                                   nh?kZdkyhu@vYidkyhu (Long term/Short term)   



   

     
vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u vfr Yk?kq mÙkjh; iz’u  Very Short Answer Type questions :-          2×7=14 
 

 

28- volj fdls dgrs gS\ What is an opportunity ?  
   

2 

29- i;kZoj.k ds fofHkUu izdkj D;k gS\  
What are the different types of environment?  
 

2 

30- ekax fdls dgrs gS\ What is demand?  
   

2 

31- miØe D;k gS\ What is enterprise?  
   

2 

32- foÙkh; fu;kstu ds nks mís’; D;k gS\  
What are the two objectives of financial planning  ?  
   

2 

33- ldy ykHk dh x.kuk dSls dh tkrh gS\ 
How gross profit is calculated?  
   

2 

34- rduhd ds nks izdkj dkSu&dkSu ls gS\ 
What are the two types of technique?  
   

2 

 Yk?kq mÙkjh; i z’u Yk?kq mÙkjh; i z’u Yk?kq mÙkjh; i z’u Yk?kq mÙkjh; i z’u  Short Answer Type questions :-                                3×5=15 
 

 

35- m|eh iwath dh ifjHkk"kk nhft,A Define venture capital.      3 

36- foi.ku dk vFkZ crkb,A  State the meaning of marketing.         3 

37- miØe dh LFkkiuk esa j.kuhfr dk D;k vk’k; gS\ 

What does the strategies mean in setting up of an enterprise?   

3 

38- dks"k izokg fooj.k ls vki D;k le>rs gS\ 

What do you mean by fund flow statement?   

3 

39- izca/k ds dk;ksaZ dk o.kZu djsaA Write the functions of management?    3 

 nh?kZ m Ùkjh; iz’u nh?kZ m Ùkjh; iz’u nh?kZ m Ùkjh; iz’u nh?kZ m Ùkjh; iz’u  Long  Answer Type questions :-                               7×2=14 
 

 

40- izca/k dh ifjHkk"kk nhft, ,oa bldh eq[; fo’ks"krk,¡ crkb,A  

Define management and describe its essential characteristics.   

7 

41- foÙk ds nh?kZdkyhu lk/kuksa ds fofHkUu lzksrks dk o.kZu dhft,A  
Discuss the various sources of long term finance.      

7 

 


